Lecture 30: Cyclotomic polynomials

Monday, March 12, 2018 11:08 AM
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Lecture 30: Cyclotomic polynomials
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Lecture 30: Cyclotomic polynomials
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Lecture 30: Hilbert's theorem 90

Monday, March 12, 2018 11:55 PM

A% 3& % G)=%@) =---=%X.§) - Since g, s GYL\"'l'ro\rd, e deduce.
X ==X, chich is o cibadiction. w

Theorem. (Hilbert’s theorem 90)

Suppose E/p 15 a Pinde Grolois exdension; ond Gol(E/z)=<o">
s ogebe: Then Np, (0= 4 w= OB, dor some geE

m-| .
D =110"6) ond [E:Fl=m.
=0

cohere NE -

L Qe coill rove this m the next |<.c]cur?.-

CNebe that Voo Gl (E/‘___\ ,

o (Ne, ()= o’(]T1 T) =11 O T ()
(V= (T oy TN I

—- NE/FCOQG Fu(C%a\(E/Fﬂ—_- F -

math200b-18-w Page 8



